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Paper / Subject Code: 81910 / Business Economics-1.

C1BBL aew I
(2 % Hours)

N.B : (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Draw neat diagram wherever necessary. :
- (A) State whether following statements are true of faise

(1) An equation is true only for a specific value.
(2) A variable is an identity whose quantity 'ca , change overa e{;;ﬁe
(3) Demand curve always slopes upward. g
(4) Geometric method measures the e!asttc:ty Df dema;nd»a a point on th
curve. ST TS
(5) The concept of iso-quants is uscd o explam the expans  path.
(6) Economies of scale help to reduce the cost of | productmn _7’ ‘
(7) A monopoly firm and mdustry are identical. ‘
(8) A firm under perfect competmon incurs heavy selimg cost. ,
(9) Under marginal cost pﬁemg, pnces are determined on the basxs‘a ﬁxaé‘cost
only.

Q=7 _
PXQ:
] _‘Next‘bestaltematxve use

.| Few sellers

‘Refers to change in one variable due
to change in other variable

. | OPEC

. | Monopoly

Cost incurred in producing an
additional units of output

long-run production

show the pictoral presentation and the
relationship between two variables

emand curve under perfect competition. 8
ross elasticity of demand. 7

OR
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Paper / Subject Code: 81910 / Business Economics-I.

(C) The demand sche:duie for an industry in a purely competﬂi e market is {,wen as :
follows — . )

Q =500 -3P

The short-run supply schedule of the industry is as ﬁz}‘ﬁ.xswg;j )

Q=-3+8P 2

Questions- AR : % -8
1. What is the equilibrium price and quanmy in the market'? _ 475

2. What is the total expenditure incurred by the consumers? 2
5

3. Calculate the total revenue of the ﬁrms

Ool

(D) Discuss the survey method of demaﬁéfofecastina

3. (A) Explain the law of d;m;mshmg marfrmai returns with the help of zm Ve S 8 J}
illustration and suitable dlafrram ~ 3 P E
(B) Discuss the types of mternal economzes of'scale.
&3 OR , ‘ ,
(C) From the foilowmg cost functmn-

Questions-
1. Cal 5

~

8

‘ f(A Dlscuss th merits and demsrrcs of fu 11 cosi pricing. g
(B) Explain the ‘ 7
15

****#**#***3***%?***
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£ BT “ew ~1

Paper / Subject Code 81309 / Quantitative Methods-I

[Time: 2 ¥ Hours] Nov S i ,
Piease check whether you have got the right questlon paper. - s
N.B: 1. All questions carry equal marks. : ~ S
2. Figures to the right indicate marks.
3. Graphs to be supplied on request.

[ (A)Choose the correct answer. (Any 8) S o Y 08
1. Ifthe frequency of a class is divided by the total ﬁequency, we g,et - frequency.
a) Percentage  b) relative c)cumulative el W9

2. Geometric mean of 4 and 9 is
a)4 ) )6

2

If standard deviation of the given dxstnbutlon is 2 then 1ts Vaﬂance 13
a)2 " b)3 c)4 : < Py

4. If two variables move in the same dtrectlon, therc igs A : fcorifé}’at;ia\n befween'th@m
a) positive b) negative c¢) zero " . ; R 7

5. We use regret table for criterion.” Sy
a) maximax  b) maximin ¢) minimax

6. When the index number is calcuiated for more than one commodities, it is called
index number.

a) simple b) va}u,e ¢) composite

7. For calculating the su'” né:sr vak:e the dukatron of the policy is taken as the between
the date of surrender and he date of commencement.
a) sum ‘””b};dtfference c) p: oduct ¥

8. There are’ 3
a)l K

9, I_fthef;},_fatsabn
0T

¥ : (B) State whether the foﬂowx ,gstai‘emsnts are true or false (Any 7) 07
< MS .Qualtxies cannot be located graphically.
"2 S The arithmetic mean of 4 and 6 is 5.
O e Range is difficult to calculate.

V4 Supply and price of any commodity are positively correlated.

S EA and Bare independent events, then probability of ANB is always zero.
~Ina serms of index numbers, base year can be changed.
“Noii mssrance policy can be revived after it has lapsed.
P Medtan' can be calculated for descriptive data.
70y € Cir ‘It:s in‘a decision tree represent various states of nature
% :IG Decﬁes aﬁ ‘be located using histogram.
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Paper / Subject Code: 81309 / Quantitative Methods-1

Q.2 (A)Following data give the bursting pressure of polythene bags pmduced bya mnufacu ref;

Bursting pressure | 5-10 10-15 15-20 20-25 - Y2530 430355
(in kgs.) A N St
No. of bags 2 9 29 54 VAN 5
Draw a less than curve and find median graphically. NS
(B) Find the mode from the data giving the monthly electricity bill of families. : YN )
Bill 500-600 600-700 700-800 | 800-900 | 900-1000 | 1000-1100
' in Rs. e A : ol ST S §
' No. of 60 120 150 & 47130 80 40-
families SRS :
OR < | %
Q.2 (C) The distribution of heights of 100 children is given below. Find D« and Py7. : T 08
Height 130-135 | 135-140 | 140-145 | 145-150 | 150-155 [ 155-160 |160-165
in cms : : g ~
No. of 8 10 207 25 15 12 410
children ' > g o
(D)Draw a histogram and find mode graplucaily from the following data 2 07
Class 100-150  |-150-200 - {.200-250 230 300 ".¢‘3{}Of35@" 350-400
interval I~ 5 NG
Frequency | 15 $22 2575 .7 300 % 3 S O Vi 10
Q.3 (A)Calculate the mefﬁc entof correlation between index of demand and index of price given 08
below. VRS RS S & : '
Index of g;im‘ e 0 08 103 107 109
demand SRS
Index of -~ [ 117 98 - 102 115 108
rice - o e :
07
s OR
Q3 (C) ABC compa,ny 1s-‘hrmgmg out A new type of toy. The company is attempting to decide 08
whether to bring out a-full, partml or smallest product line. The company has 3 levels of
demand good, fnw and. poor. with.gstimated probabilities 0.2, 0.4 and 0.4 respectively. The
'_ ay.ioff matrm zs as foﬁaws (proﬂt m Rs.)’
T K Do Courses of action
Stat sai dei Partial Smallest
Good 7000 5000
‘Fair~ 4500 4000
PO o T T , -1000 0
Sugg,est i}est decxsmn Usmg (1) EMV criterion (ii) EOL criterion
(D)Gw:;m the followmg data; find the two regression equations: ¥ =6, ¥ =11, 6y =2, oy= 07

R G 5 Estlma, e ‘ylwiien x=8.
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Paper / Subject Code: 81309 / Quantitative Methods-I

Q.4 (A)Find the quartile deviation for the following data:

Length of life in | 500-700 [ 700-900 900-1100 | 1100-1300 | 1300-130
hours 8 ESRORIEISAa T K
No. of bulbs 5 15 D) oy IG .

(B) An endowment policy of Rs.2, 00,000 for 24 years is taken by Mr. Ajay Wadhwani fora.
monthly mode of payment. The tabulated rate of annual premium is Rs. 50 per thousand on-
which 5% extra addition for monthly mode of payment is done. The npany offers Rs. 2-p
thousand rebate for policies if the sum assured is Rs.50,000 and above. Find the monthly -~ &
premium. VAT S VLSS ITo Lo

(C)Find Laspeyre’s, Paasche’s, and Fisher’s index number from the following data: =~ 08
Commodity PriceinRs. o & 0 ¢ e A0l Quantity & o S0 0
Base year | Currentyear | Baseyear | Current year
A 5 ST i R T RSy Lok

B 6 R SR T SRS S TS

D 10 T2 AR S o R a5 T e
E 02" 3 F. <A A0 S 7075 & A dT0
(D)Find standard deviation for the following data giving the production of a commodity by 250 07
workers of day shift in'a factory. - A TR

Production 100:/1;1'0\,\:“ F10-120-0 .= 7 120-130- ' 130-140 140-150
Peinir i RN Y S SRS S

No. of 10
workers [«

A7) ST T 10

nal distribution, 08
value’ and ‘surrender value’ in insurance. 07

Q.5 (A)State the properties
(B) Explain the terms ¢

15

er foragricultural laborers
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Paper / Subject Code: 81405 / Foundation Course-1

BRT- sem ~1

Time: 2 % hours

NB: (1) All questions are compulsory
(2) Figures to the right indicate full marks

1. (A) Choose the correct alternative (any eight)

(i) In India the state of has the lowest gendér? ratxo e
(Punjab, Haryana, Bihar) R

(ii) Shwetambar and Digambar are the two major sects of
(Sikhism, Jainism, Buddhism) : ;

(iii)  Marathi belongs to language fam:l
(Dravidian, Indo-Aryan, Austnc} R

(iv) Deficiency of Vitamin ____ ' may ﬁ?u&é‘ﬁ[indr&eés;: ‘ NS
(v) The practice of untcuchablhty is prOhlbitEd inIndia bv Artxcle _ of the
Constitution. - . e o
(15,16 17)

(vi) Demand.for‘son: of the soil’is an example
(communahsm castelsm ’regtonahsm}

{vii)

naly power te mterpre’c the Constitution.

{vi‘ii)'::f P te livel {:Qnstitutronthereare : types of emergency.

X:{imp;ii‘é‘s ézéj‘uai treatment to all religions.

Amendment Act.

(07)

Trachama is a serious form of conjunctivitis.

Page 10f 4 '
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Paper / Subject Code: 81405 / Foundation Course-I

(vi)  Down’s syndrome is a defect due to extra chromosome.
(vii}  Indian Constitution does not confer double citizenship. $
(viii)  Fundamental rights are justiciable in nature. RN
(ix)  Indian Constitution has adopted Parliamentary democracy.

(x) Trinamool congress is a national party. '

Explain the causes and ctonsequences of declining gen_dé}l?étiq:‘f;} “iﬁﬁi_a;‘ o
OR T e s AN
Examine the various problems faced by the pempie,',_w;’th"diéfabfﬁ:t

Discuss the reasons for communal violence in modern India. \Sf‘ugggé?;mve'és,u\;r;éfs;?gﬁ;;> &
overcome the problems of communalism, ANE AL TR R o Q0 S

OR
Explain the various issues related to region conflicts in Indige 0o

Discuss the significance for Fundam 1 Constitution.

(15) —/

73" Constitutional Amen

;:!t'ha Brassroot
level’ - Discuss. '

(15)

Write short notes:

(a) Rural-urb

(b) Religiou
(c) Portrayal o
(d) Linguiaf C

(e) Feature:
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Paper / Subgect Code: 81904 / Business Communication-I,

W \i &) g“) ;{
— I i~
| (S

9N %m ;[ Q

Total Marks: 75 marks o 4

N.B. All questions are compulsory
I (A) Match the Columns: (Any Eight)

(1) Encoding (a) Mass Comm nicatior
(2) Blogs with Photos (b) Needs Mentaf stc;ph
(3) Kinesics

(4) Hierarchy

(5) Semantic Barriers

(6) Fake Listening

(7) Good Listening

(8) Letterhead

(9) Post Script

(10)Address to a Large Group

(B) State whether the following are True or False:. (07 marks)

a) Jobs may be advertised. through websms but appmanor‘s should never b‘, séﬁt tii}\ézj'gh e-mail.
b) Use of Jargon shows command over language.: S &y
c) Lxstemng enables understarxdmgvof a message
d) ap *
e)
f
g)

Sommunication,

(07 marks)

(08 marks)

(67 marks)

(08 marks)

Page 1 of2 )
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3.

‘10 years, you (05 marks)

(15 marks)
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Paper / Subject Code: 81303 / Environmental & Management of Pmmmi %m vme..‘;: o "

BhT-—sewm 1

Time: 2:30 Hours f”‘f Marks‘?""a NI

Ql.a) Fillin the Blanks:-  (Any 8 out of 10) Rl o) 51\4@11\5;’

i. is a regulatory financial institution for stock exchemge ( RBI SFB RDA}
ii.  The following is not the method to measure the mterest rate risk . ', : {Gap Ana yms
Duration Analysis, Market risk) A R

iii.  IMF stands for {(Indian Monetary Fund, 'ln_surance,Mz}rkfgﬁhg?ihm, ‘Iﬁim'@ﬁbnal '3

Monetary Fund) : R ,
iv.  Insuranceisa form of distributing a certam mk over a g! oup a[ pfn sons who *’txe
exposed to it. (Mutual, Social, Cooperatwe) ' S SR
V. Insurance forms the hfelme of sevei ai commex ce cmd tr ad@ activities; {Medlca
General, Marine) e ST 2 SN SN
vi.  Liquidity Risk is a type of __ ¢ o '.fMérkét' ﬁisk;Credit Risk, Legal Risk) -~ =
vii.  Insurance is a protection agairst s loss arising on the happening of an mw?c‘éé;sted events.(

Financial, Political, Economical)

viii.  The SLR cannot be less than 5= % of the demand and time liabilities of a bank. (20%,
25%, 30%) e
ix. pmwdes iongvterm fir nance to mdustrles (NABARD IDBf EXIM Bank)

X.  Banking Reguiatton Actw', paésed in, > ¢ { 1947 1949 195.9)

7 Marks

B
: ICICI" = : b e ”‘Meﬁetary Pohcy Functmn
T Recmung a/r., ‘ (O ”{nsmance through Bank
| National Insurarxce Company “anbxlit‘y, of the bank
~ ('Bancassurancca ' ”,Dgpeéi‘t:'ova Fixed amount at regular interval
Pilfar [11 o S C 1
f 0 \'[*Corpoiate Bankmg v {Kﬁlkata
7 PLIC T "Eﬂ:',;“i955
i ,",_'-,'Txme Dep051t oy Market Discipline
T ALM Guxdeimes by RBI Public Company
S & o] Reserve Ban}; of India SME Finance
Page1lof2
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Paper / Subject Code: 81303 / Environmental & Management of Fiancial Sewzces

L sMaks

Q2a)”Indian Financial System comprises of four pillars”. Explain.
b) Define Bank and explain its Characteristics.

Q2 c¢)What are the objectives of insurance company? : 8Mai%cs

o TMarks

d) What are cooperative Banks and explain types of Coopergtfiig‘&énké

Q3 a) Define Banking companies and explain functions of B , _kﬁjg;‘(fémpénfesi gy 3 i Marks.

b) Explain the primary and secondary functions of iﬁsurénée. .

c) Explain the functions of RBI. \ ‘ , -8 Marks” 4
d) What is CRR? How is it different from SLR? - SE TS Mk T
Q4 a) Explain the process of ALM. " 3 B S8 : farks

b) Write short note on Bancassufance =~ . . " arks

Regulations act. 8 Marks

7 Marks

vers and functions of IRDA § Marks

b) Explain'the development : 15-0f the res 7 Marks
15 Marks

sk e sfe sl oo sk e skl ek
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Paper / Subject Code: 81302 / Principles of Managemen‘t

R \@i 2N\ T
[ 2% Hours ]

Please check whether you have got the right questzon ‘.pa '
N.B: 1. All questions are compulsory.

2. Figures to the right indicate full marks.

1. A) Fill in the blanks choosing the correct alternatives (any 8)
1)  Management is BT

(doing the work, getting the work done, cettii';; pdat

2)  Traditional management is based on old ;

(records, customs, policies) :

3)  C.K. Prahalad is best known for_ 3

4) Controlimg measures
(actual, expected, caicu!&ted) LT R

5)  Know You Customer- (KYC) isa part o
(technical, operatmnal phys;ca!) : o o

6)  Co-ordination isthe = Cof in'anégéménf.
(tradition, esscnce pohcy) '

7

Groupmg of actlvztres is caHed

7

“:,,Mahagjﬁiﬁéﬁt e tiﬁ%é"?ﬁicthods.
SIX Swma is desxgne‘ o meet customer needs
”TQM does not lmk quahty and productivity.

/ dtwatlon reduces accidents.

D{;ectxgq 1,s’ifch‘_c;:act:0n element in business.

, _;,_Fgm'gjiame;nt risks are beyond the control of individuals.

" Banks consider self-control to be the best.

ormal organization is unwritten.

Page 1 of2
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Paper / Subject Code: 81302 / Principles of Management.

i)  Departmentation by product is economical.

J) Management of banks is vested with the Board of Direc’»:grs.v

Define management. Explain management as a profession. ;
Discuss the techniques of scientific management by F WT yior £

OR '
Explain the characteristics of traditional manageme \

Why is Vijay Govindarajan regarded as a manage ne

Explain the principles of organizing.

What is centralization of authority

'hat- rgﬁ.;tﬁé i\‘a‘d'v,%i_zi}i"cgig‘c o

authority? .

(08)
07

. staff organization.

(08)
©7)

(08)
07

(15)

Informal Organization

Page 2 of 2
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29|11 1 0\8
Paper / Subject Code: 81301 / Financial Accounting-1

"y BB] Sem-T

Time: 2.30 Hrs

Note.

1. All questions are compulsory having internal choice.
2. Figures to right indicate marks.

3. Use of simple calculator is allowed.

Q. 1 A) Fill in the blanks (any 8 out of 10)

1. Wages account is account. (Real, Nominal)

2. Cash account is . account. (Real, Nominal) J

3. Small expenses of daily routine business are recorded ifi -

4. is the official body in India that issues accounting stamd'wd ﬁ om

5. Repainting of a building is _____expenditure. (Revenue Capxtal)

6. In hire purchase, the title of the g goods remains with-the - * v . (F s Hire] )

7. means gradual and permanent fall in value of ﬁx::d assets (Deprecm’aon Loss on mads by fire)

8. Goodwillis _____asset. (Intangible, Tangibl e) >

9. Carriage inward is debited i in in.
(Manufacturm g, Trading)

10. Prepaid Expenses are shown in

B) Rewrlte the following statement and state »xhethei true or fa se. (Any 7 out £10)
1. Cash received on sale of old furniture is capital receipt. i

2 Deferred revenue expenditure defers more than a year,

Czedit uansactcons are not. entered m cash baok

07

p c\ogmtx@ni ;
6. GAAP stands for General ly Accepted Accounting P‘rmmpies_ il
7. FIFO method assumes that the fa est items are m smcl g
8. In FIF 0] method stock is valued at ‘o}dest rate. .

(13)

Purchased Machmery fror gashx % 3() 0@0
-Purchase goods from M/s Chandu Brothers Rs 3,000.
Total Sales amounted to Rs 15,000 of which cash sales is Rs 2,000,
7 'Wlthdrawn cash for personal use Rs 1,000.
. Received cash on account from Ms. Raj Rs 1,800.
Paid cash to M/s Chandu Brothers Rs 1,500.
~Rent pazd Rs 500 and a commission received from Mr.Rajesh Rs 2,500
125 . Goods sent to Ms. Raj for Rs 2,000
305 'Offce sa anes pald through bank Mr. B Rs 1,000 Mr. C Rs 1,000. Mr. D Rs 1,000

OR

S9347 .l
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Paper / Subject Code: 81301 / Financial Accounting-I

B). State with reasons whether the following is Capital Expenditure, Revenue Expendrmr

Revenue Expenditure

1) Spent Rs 9000 to recondition the old machinery

2) Goods Destroyed by fire

3) White washing of factory building

4) Cost of market research for new product

5) Cost of improving sitting capacity of cinema hall

6) Cost of training the employees

7) Amount received on issue of debentures

8) Heavy expenditure incurred on advertisements

9) Wages paid to workers for erection of machinery S
10) Payment of import duty on purchase of raw materials, -

Q.3 A) From the following information calculate value ofclosmg stock as on SO‘hAprd’Zﬁl 8 dsperF{FO and

Weighted Average Method.
Stock as on 1% April’2018 1300 @ 3 Rt
Purchases (Qty) Sales (Qty)

02/04/2018 3000 @ 2 05/04/2018 - 1500 @ 4
11/04/2018 5500 @ 3 - 10/0422018 = 800 @3

22/04/2018 2500 @ 2
25/04/2018 1500 @ 1

24/04/2018 2000@ 4

B) Mr. Kumar purchased a mo,té,x,‘cycf" on Ime-purchasesystem from M/sJ&y Dé&il@rsi The cas
payment under the agreement was to be made-as follow:

motorcycle was Rs.23,250. The:

On signing the agreement on 1-1 < Rs.4,500
At the end of the first year on 31-122011 : Rs.7,500
At the end of the second year on 31-12-2012- ~ o - Rs.7,500
Atthe end of the third yearon 31-12-2013° - * . R$.7,500

--18/04/2018 1500 @3 75

15)

h price of the

Mr. Kumar provides depreciation at 10 % p:a.on written down value method. Prepare MotorCycle Account and

Jay Dealers Account in books oer Kumar.

Q.4 A) From the following Tri

(15)

ince Prepar Manujfﬁéturing Afc and Trading, Profit & Loss A/c For the year

ended. 31* March’2018 and Balance Sheet As on that date. (15)
Parficulars” < OO & 5] B g L Debit. Credit
Opening Stocks =

{RawMaterial. - ..o O 30,000

“| Work In Progress 5,000
- 2| Finished Goods: 16,000
S Capitat S¢S HTE S 90,000
- - | Purchase of Raw Material - 3,00,000
) S SO e 450,060
| Purchase of Finished Goods -~ 8,000
| Carriage Inward < : 4,000
< Provision for Ba 10,000
| ‘Wages™ " . 50,000
- | Salaries (75 % Factory) -~ 26,000
FoF S Comim issiony & (TS 3,000
o Bad debts <8 i E 2,000 |

59347 oSS Page 2 of 4
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Paper / Subject Code: 81301 / Financial Accounting-I

Insurance

Rent, Rates and Taxes (50 % Factory)
Postage and Telegrams

Tea and Tiffin

Travelling and Conveyance (25% Factory)
Carriage outward

Machinery

Furniture (40% Factory)

Debtors

Creditors

oot

: Prov1de 10 % depreciation on Machmery and Furnlture,,.-

8,000 respectwely
3. Provide 5 % reserve for doubtful debt. ¢ ‘

4. Salary outstanding Rs.2,400 and i insurance WﬁS prepald byRs 600
COR v N

B) From the following Trial Balance of Shri Kamal Pr@pare mamu I‘actul mg accouni;

_ loss account for the year ended 31% Decemb=r 2018 and Balance sheet as Cm thal dat

Particulars Ameunt»‘ »;Pamcuidrs e

Drawings ©..50,000°| Capital 4,64,000

Patents 8 0©.440,000.f Sundr 1,25,000

Plant & Machinery F¥ S $2,00:000, *Debenmles ; 75,000

Land & Building U4 41,20,000 | Reserve for bad debts B 6,000

Cash & Bank Balances L 37,000 | Sales o 3,24,000

Sundry Debtors , pe 59,000 1 Discounts received ; 4,000
' Trade Marks &S - 9,000 | Return outward = 2,000
! Sa}alytaManager S 60008 TS b

Purchase of raw

Opening stocks: .
- Raw:material’
- Semi-finished oods
- Finished goods '
Carriage inward =
Wages & Salaues
‘U Factory expenses .
Factory rent
-} Office expenses.”
i f"Statlonary 4
Discounts Given
N )Bad debts

- MO S otal 16 00,000
On3® December’zm 8 stocks were as follows:
- Raw material Rs 55,000; Semi—ﬁmshed goods Rs 75,000; Finished goods Rs 95,000.
- Stationary expense ou{standmg Rs 1500 and factory rent was prepaid Rs 2000.
!ncrease Reserve bad debts by Rs 5000.

; Intere ‘ on debenture is snl} unpaid Rs 1200

Total | 10,00,000

BOBAT LTS S Page 3 of 4
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Q.5 A)Explain any four Accounting Principles. -
B) Distinguish Between Revenue Expenditure & Capital Expenditure

Q.5) Write short notes (Any 3 out of S)
1. Merits and demerits of accounting standard
2. Bank reconciliation statement.
3. Rectification of errors.
4. Deferred Revenue Expenditure
5. Manufacturing Account. :
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